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1. Which join condition contains an 

equality operator: 

(A)   Equijoins 

(B) Cartesian 

(C) Natural 

(D) Left   

 1. fdl tkWbu daMh’ku esa ,d lekurk 

vkWijsVj gksrk gS% 

(A) bfDotkWbUl 

(B) dkVsZf’k;u 

(C) çkÑfrd 

(D) ys¶V 

2. For select operation the _______ 

appear in the subscript and the 

_______ argument appears in the 

parenthesis after the sigma. 

(A)   Predicates, relation 

(B) Relation, Predicates 

(C) Operation, Predicates 

(D) Relation, Operation 

 2. lsysDV vkWijs’ku ds fy, lcfLØIV esa 

______ fn[kkbZ nsrk gS vkSj ______ rdZ 

flXek ds ckn dks”Bd esa fn[kkbZ nsrk gSA 

(A) fo/ks;] laca/k 

(B) laca/k] fo/ks; 

(C) vkWijs’ku] fo/ks; 

(D) laca/k] lapkyu 

3. Which of the following is a 

command of DDL? 

(A)   Alter 

(B) Delete 

(C) Create 

(D) All of the above 

 3. fuEufyf[kr esa ls dkSu DDL dk dekaM gS\ 

(A)   Alter 

(B) Delete 

(C) Create 

(D) mijksDr lHkh 

4. Which of the following is known 

as minimal super key? 

(A)   Primary key 

(B) Candidate key 

(C) Foreign key 

(D) None of these 

 4. fuEu esa ls fdls U;wure lqij dqath ds :i 

esa tkuk tkrk gS\ 

(A) çkFkfed dqath 

(B) mEehnokj dqath 

(C) fons’kh dqath 

(D) buesa ls dksbZ ugha 
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5. Which is AS clause used for? 

(A)   Rename 

(B) Selection 

(C) Join 

(D) Projection 

 5. AS DykWt fdlds fy, iz;ksx fd;k tkrk 

gS\ 

(A) uke cnysa 

(B) p;u 

(C) ‘kkfey gksa 

(D) izkstsD’ku 

6. Which normal form deals with 

multivalued dependency? 

(A)   1NF 

(B) 2 NF 

(C) 3 NF 

(D) 4 NF   

 6. dkSu lk lkekU; :i cgqewY; fuHkZjrk ls 

lacaf/kr gS\ 

(A) 1 ,u-,Q- 

(B) 2 ,u-,Q- 

(C) 3 ,u-,Q- 

(D) 4 ,u-,Q- 

7. In Hierarchical model records are 

organised as: 

(A)   Graph 

(B) List 

(C) Links 

(D) Tree 

 7. inkuqØfer ekWMYk ds fjdkWMZ bl izdkj 

O;OkfLFkr fd, tkrs gSa% 

(A) xzkQ 

(B) lwph 

(C) fyaDLk 

(D) Vªh 

8. In tuple relational calculus P1 ® 
P2 is equivalent to:  
(A)   ¬ P1 Uሖ  P2 
(B) P1 Uሖ  P2 
(C) P1 Uሗ  P2 
(D) P1 Uሗ  ¬ P2 

 8. Vqiy fjys’kuy dSydqyl esa P1 ® P2 

cjkcj gS% 

(A)   ¬ P1 Uሖ  P2 
(B) P1 Uሖ  P2 
(C) P1 Uሗ  P2 
(D) P1 Uሗ  ¬ P2 
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9. Which database level is closest to 
the users? 
(A)   External 
(B) Internal 
(C) Physical 
(D) Conceptual 

 9. dkSu lk MsVkcsl Lrj mi;ksxdrkZvksa ds 

lcls djhc gS\ 

(A) ckgjh 

(B) vkarfjd 

(C) HkkSfrd 

(D) ladYiukRed 

10. A relation that has no partial 
dependency is in which normal 
form: 
(A)   First 
(B) Second 
(C) Third 
(D) BCNF 

 10. ftl laca/k ij dksbZ vkaf’kd fuHkZjrk ugha gS] 

og lkekU; :i eas gksrk gS% 

(A) igyk 

(B) nwljk 

(C) rhljk 

(D) ch-lh-,u-,Q- 

11. In SQL, GRANT command is used 
to: 
(A)   Allow user to access 

databases 
(B) Allow user to create 

databases 
(C) Grant system privileges, roles 

and object privileges to users 
and roles 

(D) Choose auditing for specific 
SQL Commands 

 11. SQL esa GRANT dekaM dk iz;ksx fd;k 

tkrk gS% 

(A) mi;ksxdrkZ dks MsVkcsl rd igqapus 

dh vuqefr nsa 

(B) mi;ksxdrkZ dks MsVkcsl cukus dh 

vuqefr nsa 

(C) miksxdrkZvksa vkSj Hkwfedkvksa dks 

fLkLVe fo’ks”kkf/kdkj] Hkwfedk,a vkSj 

vkWCtsDV fo’ks”kkf/kdkj çnku djas 

(D) fof’k”V SQL dekaM ds fy, 

vkWfMfVax pqusa 

12. Which of the following is the 
structure of the database? 
(A)   Table 
(B) Schema 
(C) Relation 
(D) None of these 

 12. fuEufyf[kr esa ls dkSu MsVkcsl dh lajpuk 

gS\ 

(A) Vscy 

(B) Ldhek 

(C) laca/k 

(D) buesa ls dksbZ ugha 
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13. The database design prevents some 

data from being stored due 

to_______. 

(A)   Deletion anomalies 

(B) Insertion anomalies 

(C) Update anomalies 

(D) Selection anomalies   

 13. MsVkcsl fMt+kbu _______ ds dkj.k dqN 

MsVk dks laxzfgr gksus ls jksdrk gSA 

(A) Deletion folaxfr;k¡ 

(B) bal’kZu folaxfr;k¡ 

(C) viMsV folaxfr;k¡ 

(D) p;u folaxfr;k¡ 

14. If one attribute is determinant of 

second, which in turn is 

determinant of third, then the 

relation cannot be: 

(A)   Well-structured 

(B) 1 NF 

(C) 2 NF  

(D) 3 NF 

 14. ;fn ,d fo’ks”krk nwljs dk fu/kkZjd gS] tks 

cnys esa rhljs dk fu/kkZjd gS] rks laca/k ugha 

gks ldrk% 

(A) vPNh rjg ls lajfpr 

(B) 1 ,u-,Q- 

(C) 2 ,u-,Q- 

(D) 3 ,u-,Q- 

15. 5 NF is designed to cope with: 

(A)   Transitive dependency 

(B) Join dependency 

(C) Multi valued dependency 

(D) None of these 

 15. 5 NF dks blls fuiVus ds fy, fMt+kbu 

fd;k x;k gS% 

(A) VªkfUlfVo fMisaMsalh 

(B) Tokbu fMisaMsalh 

(C) eYVh oSY;wM fMisaMsalh 

(D) buesa ls dksbZ ugha 

16. Which ACID property specifies 
that once the transaction is 
committed, it’s permanent even in 
case of power failures? 
(A)   Atomicity 
(B) Consistency 
(C) Isolation 
(D) Durability   

 16. dkSu lh ACID laIkfÙk fufnZ”V djrh gS fd 

,d ckj ysu&nsu djus ds ckn] fctyh dh 

foQyrk ds ekeys esa Hkh ;g LFkk;h gS\ 

(A) vVkWfeflVh 

(B) dafLkLVsalh 

(C) vyxko 

(D) LFkkf;Ro 
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17. A transaction that has not been 
completed successfully is called as 
________. 
(A)   Compensation transaction 
(B) Aborted transaction 
(C) Active transaction 
(D) Partially committed 

transaction 

 17. ,d ysu&nsu tks lQyrkiwoZd iwjk ugha gqvk 

gS mls ________ dgk tkrk gSA 

(A) {kfriwfrZ ysunsu 

(B) fujLr ysunsu 

(C) lfØ; ysunsu 

(D) vkaf’kd :i ls çfrc) ysunsu 

18. Which of the following operators 
cannot be used in a sub-query? 
(A)   AND 
(B) < 
(C) >  
(D) < >   

 18. fuEufyf[kr esa ls dkSu lk vkWijsVj 

mi&Dosjh esa mi;ksx ugha fd;k tk ldrk 

gS\ 

(A) vkSj 

(B) < 
(C) >  
(D) < >   

19. When more than one attribute 
forms the primary key, the key is 
known as:  
(A)   Foreign key 
(B) Alternate key 
(C) Candidate key 
(D) Composite key 

 19. tc ,d ls vf/kd fo’ks”krk,¡ izkFkfed dqath 

cukrh gSa] rks dqath dks dgk tkrk gS% 

(A) fons’kh dqath 

(B) oSdfYid dqath 

(C) mEehnokj dqath 

(D) lexz dqath 

20. The scheme that controls the 
interaction between executing 
transactions is called as ______. 
(A)   Concurrency control scheme 
(B) Multiprogramming scheme 
(C) Serialization scheme 
(D) Schedule scheme 

 20. ysu&nsu fu”ikfnr djus ds chp ckrphr dks 

fu;af=r djus okyh ;kstuk dks ______ 

dgk tkrk gSA 

(A) leorhZ fu;a=.k ;kstuk 

(B) eYVhçksxzkfeax ;kstuk 

(C) Øekadu ;kstuk 

(D) vuqlwph ;kstuk 
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21. Which of the following is the 

binary operation?  

(A)   Union 

(B) Join 

(C) Cartesian product 

(D) All of these 

 21. fuEu eas ls dkSu&lk ckbujh vkWijs’ku gS\ 

(A) ;wfu;u 

(B) Tokbu 

(C) dkfVZflvu çksMDV 

(D) ;s lHkh 

22. E-R modelling technique is a: 

(A)   Top-down approach 

(B) Bottom-up approach 

(C) Left-right approach 

(D) None of the above 

 22. bZ&vkj ekWMfyax rduhd ,d gS% 

(A) VkWi&Mkmu vçksp 

(B) ckWVe&vi vçksp 

(C) ys¶V jkbV vçksp 

(D) mijksDr esa ls dksbZ ugha 

23. Which of this operator selects 

value that matches any value in a 

given list of values? 

(A)   BETWEEN 

(B) LIKE 

(C) IN 

(D) None of these  

 23. buesa ls dkSu lk vkWijsVj oSY;w dk p;u 

djrk gS tks fdlh fn, x, oSY;w fyLV esa 

fdlh Hkh oSY;w ls esy [kkrk gS\ 

(A)   BETWEEN 

(B) LIKE 

(C) IN 

(D) buesa ls dksbZ ugha 

24. Every weak entity set can be 

converted into a strong entity set 

by: 

(A)   Using generalization 

(B) Adding appropriate attributes 

(C) Using aggregation 

(D) None of the above 

 24. çR;sd detksj bdkbZ lsV }kjk fu/kkZfjr ,d 

etcwr bdkbZ esa ifjofrZr fd;k tk ldrk 

gS% 

(A) lkekU;hdj.k dk mi;ksx djuk 

(B) mi;qDr ,fVªC;wV tksM+uk 

(C) ,d=hdj.k dk mi;ksx djuk 

(D) mijksDr esa ls dksbZ ugha 
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25. In ER model the details of the 

entities are hidden from the user. 

This process is called: 

(A)   Generalization 

(B) Specialization 

(C) Abstraction 

(D) None of these 

 25. bZ- vkj- ekWMy esa laLFkkvksa dk fooj.k 

mi;ksxdrkZ ls fNik gksrk gSA bl çfØ;k dks 

dgk tkrk gS% 

(A) lkekU;hdj.k 

(B) fo’ks”kKrk 

(C) efrghurk 

(D) buesa ls dksbZ ugha 

26. Which of the following is an 

aggregate function in SQL? 

(A)   Union 

(B) Like 

(C) Group By 

(D) Max 

 26. fuEufyf[kr esa ls dkSu SQL esa ,d lexz 

dk;Z gS\ 

(A)   Union 

(B) Like 

(C) Group By 

(D) Max 

27. Which of the following is not a 

function of DBA? 

(A)   Network maintenance 

(B) Routine maintenance 

(C) Schema Definition 

(D) Authorisation for data access 

 27. fuEufyf[kr esa ls dkSu Mh-ch-,- dk dk;Z 

ugha gS\ 

(A) usVodZ j[kj[kko 

(B) fu;fer j[kj[kko 

(C) Ldhek ifjHkk”kk 

(D) MsVk ,Dlsl ds fy, izkf/kdj.k 

28. Which is the component of 

database management system?  

(A)   Query Language 

(B) Database Manager 

(C) File Manager 

(D) All of these 

 28. MsVkcsl izca/ku ç.kkyh dk ?kVd dkSu lk gS\ 

(A) Dosjh Hkk”kk 

(B) MsVkcsl eSustj 

(C) Qkby izca/kd 

(D) ;s lHkh 



Series-B B.Sc. – B070201T / K-257 Page - 10 

29. Which person is responsible for 

overall activities for database? 

(A)   Database designer 

(B) Database analyst 

(C) Database Administrator 

(D) Database manager   

 29. MsVkcsl ds fy, lexz xfrfof/k;ksa ds fy, 

dkSu lk O;fDr ftEesnkj gS\ 

(A) MsVkcsl fMtkbuj 

(B) MsVkcsl fo’ys”kd 

(C) MsVkcsl ç’kkld 

(D) MsVkcsl eSustj 

30. What is used for database 

security? 

(A)   Data encryption 

(B) View 

(C) Finger point 

(D) All of the above 

 30. MsVkcsl lqj{kk ds fy, fdldk mi;ksx fd;k 

tkrk gS\ 

(A) MsVk ,fUØI’ku 

(B) O;w 

(C) fQaxjikWbaV 

(D) mijksDr lHkh 

31. ________ is responsible for that 
the database remains in a 
consistent state despite system 
failure. 
(A)   Storage manager 
(B) Transaction manager 
(C) End user 
(D) Sophisticated 

 31. ________blds fy, ftEesnkj gS fd 

fLkLVe foQyrk ds ckotwn MsVkcsl ,d 

lqlaxr fLFkfr esa jgrk gSA 

(A) LVksjst eSustj 

(B) ysunsu çca/kd 

(C) var mi;ksxdrkZ 

(D) ifj”—r 

32. The number of modes in which a 
transaction may request a lock in 
multiple-granularity locking is:  
(A)   Two 
(B) Three 
(C) Five 
(D) Six 

 32. eksM dh la[;k ftlesa ,d ysu&nsu 

eYVhiy&xSzU;qySfjVh ykWfdax esa ykWd dk 

vuqjks/k dj ldrk gS% 

(A) nks 

(B) rhu 

(C) ik¡p 

(D) Ng 



Series-B B.Sc. – B070201T / K-257 Page - 11 

33. Data integrity means: 

(A)   Providing first access to 

stored data 

(B) Ensuring correctness and 

consistency of data 

(C) Providing data sharing 

(D) None of the above 

 33. MsVk v[kaMrk dk vFkZ gS% 

(A) laxzfgr MsVk rd igyh igqap çnku 

djuk 

(B) MsVk dh ‘kq)rk vkSj fLFkjrk lqfuf’pr 

djuk 

(C) MsVk Lkk>kdj.k çnku djuk 

(D) mijksDr esa ls dksbZ ugha 

34. Secret words or numbers used for 

protection of devices is called: 

(A)   Biometric data 

(B) Backup 

(C) Passwords 

(D) Private words 

 34. midj.kksa dh lqj{kk ds fy, iz;qDr xqIr ‘kCn 

;k vad dgykrs gSa% 

(A) ckW;ksehfVªd MsVk 

(B) cSdvi 

(C) ikloMZ 

(D) futh ‘kCn 

35. Grant and revoke is the type of 

command: 

(A)   DDL 

(B) DML 

(C) DCL 

(D) DQL 

 35. xzkaV vkSj fjoksd dekaM dk çdkj gS% 

(A) Mh-Mh-,y- 

(B) Mh-,e-,y- 

(C) Mh-lh-,y- 

(D) Mh-D;w-,y- 

36. A data dictionary is a repository 

that manages ______. 

(A)   Database 

(B) Memory 

(C) Metadata 

(D) All of these 

 36. MsVk fMD’kujh ,d fjikWftVjh gS tks 

______ dk izca/ku djrh gSA 

(A) MsVkcsl 

(B) eseksjh 

(C) esVkMsVk 

(D) ;s lHkh 
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37. Which is the transformation of 

requests and results between 

different levels of abstraction?  

(A)   Evaluation 

(B) Mapping 

(C) Compiler 

(D) Precompiler 

 37. vewrZrk ds fofHkUu Lrjksa ds chp vuqjks/kksa 

vkSj ifj.kkekasa dk :ikarj.k dkSu lk gS\ 

(A) ewY;kadu 

(B) ekufp=.k 

(C) daikbyj 

(D) çhdaikbyj 

38. Which is stored information about 
description of data in the database?  
(A)   Data files 
(B) Data dictionary 
(C) Database  
(D) Data administrator 

 38. MsVkcsl esa MsVk ds fooj.k ds ckjs esa 

tkudkjh laxzghr dh tkrh gS\ 

(A) MsVk Qkbysa 

(B) MsVk ‘kCndks’k 

(C) MsVkcsl 

(D) MsVk ,MfefuLVªsVj 

39. Authentication refers to: 
(A)   Method of restricting users to 

access the system 
(B) Controlling access to portions 

of database 
(C) Controlling operations on the 

data 
(D) All of the above   

 39. çek.khdj.k dks lanfHkZr drk gS% 

(A) flLVe rd igq¡pus ds fy, 

mi;ksxdrkZvksa dks çfrcaf/kr djus dh 

fof/k 

(B) MsVkcsl ds dqN fgLlksa rd igqap dks 

fu;af=r djuk 

(C) MsVk ij lapkyu dks fu;af=r djuk 

(D) mijksDRk lHkh 

40. We can use the following three 
rules to find logically implied 
functional dependencies. This 
collection of rules is called: 
(A)   Axioms 
(B) Armstrong’s axioms 
(C) Armstrong 
(D) Closure 

 40. rkfdZd :i ls fufgr dk;kZRed fuHkZjrk dks 

[kkstus ds fy, ge fuEufyf[kr rhu fu;eksa 

dk mi;ksx dj ldrs gSaA fu;eksa ds bl 

laxzg dks dgk tkrk gS% 

(A) Lo;afl) 

(B) vkeZLVªkax ds vfHkx̀fgr 

(C) vkeZLVªkax 

(D) Dykslj 
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41. To obtain the structure of an 

Oracle table, the command to use 

is: 

(A)   STRUCTURE [Table Name] 

(B) DESCRIBE [Table Name] 

(C) DESCRIBE STRUCTURE 

[Table Name] 

(D) DESC TABLE [Table Name] 

 41. Oracle rkfydk dh lajpuk çkIr djus ds 

fy,] mi;ksx djus ds fy, dekaM gS% 

(A) lajpuk [rkfydk dk uke] 

(B) o.kZu [rkfydk dk uke] 

(C) lajpuk dk o.kZu djsa [rkfydk dk 

uke] 

(D) fooj.k rkfydk [rkfydk dk uke] 

42. There are two functional 

dependencies with the same set of 

attributes on the left side of the 

arrow: 

A- > BC 

A- > B 

This can be combined as  

(A)   A- >BC 

(B) A- >B 

(C) B- >C 

(D) None of the mentioned 

 42. rhj ds ckbZ vksj fo’ks”krkvksa ds leku lsV ds 

lkFk nks dk;kZRed fuHkZjrk,¡ gSa% 

A- > BC 

A- > B 

This can be combined as  

(A)   A- >BC 

(B) A- >B 

(C) B- >C 

(D) mYysf[kr esa dksbZ ugha 

43. What are the desirable properties 

of decomposition?  

(A)   Partition constraint 

(B) Dependency preservation 

(C) Redundancy 

(D) Security 

 43. ,d vi?kVu ds okaNuh; xq.k D;k gSa% 

(A) foHkktu ck/kk 

(B) fuHkZjrk laj{k.k 

(C) Qkyrwiu 

(D) lqj{kk 
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44. If every not-key attribute is 

functionally dependent on the 

primary key, then the relation will 

be in: 

(A)   1 NF 

(B) 2 NF 

(C) 3 NF  

(D) 4 NF   

 44. ;fn çR;sd xSj&dqath fo’ks”krk çkFkfed dqath 

ij dk;kZRed :i ls fuHkZj gS] rks laca/k 

gksxk% 

(A)   1 NF 

(B) 2 NF 

(C) 3 NF  

(D) 4 NF   

45. Create table employee (name 

varchar, id integer)  

What type of statement is this? 

(A)   DML 

(B) DCL 

(C) DDL 

(D) None of these 

 45. Create table employee (name 

varchar, id integer)  

;g fdl rjg dk LVsVesaV gS\ 

(A)   DML 

(B) DCL 

(C) DDL 

(D) buesa ls dksbZ ugha 

46. Which of the following is the full 

form of DDL?  

(A)   Data Definition Language 

(B) Data Derivation Language 

(C) Dynamic Data Language 

(D) Detailed Data Language 

 46. fuEufyf[kr eas ls dkSu Mh-Mh-,y- dk iw.kZ 

:i gS\ 

(A)   Data Definition Language 

(B) Data Derivation Language 

(C) Dynamic Data Language 

(D) Detailed Data Language 

47. Which of the following is not a 

SQL command?  

(A)   Delete 

(B) Order By 

(C) Select 

(D) Where 

 47. fuEu esa ls dkSu SQL dekaM ugha gS\ 

(A)   Delete 

(B) Order By 

(C) Select 

(D) Where 
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48. Which type of JOIN is used to 

returns rows that do not have 

matching values? 

(A)   Natural JOIN 

(B) Outer JOIN 

(C) EQUI JOIN 

(D) All of the above 

 48. mu iafDr;ksa dks okil djus ds fy, fdl 

çdkj ds tkWbu dk mi;ksx fd;k tkrk gS 

ftuesa esy [kkus okys eku ugha gksrs gSa\ 

(A)   Natural JOIN 

(B) Outer JOIN 

(C) EQUI JOIN 

(D) mi;qZDr lHkh 

49. Which of the following is not a 

key in SQL?  

(A)   Primary 

(B) Foreign 

(C) Alternate 

(D) Secondary 

 49. fuEu esa ls dkSu SQL esa key ugha gS\ 

(A) çkFkfed 

(B) fons’kh 

(C) oSdfYid 

(D) ek/;fed 

50. Identify the criteria for designing 

database from the point of view of 

user:  

(A)   No redundancy 

(B) No inapplicable attributes 

(C) Uniformity in naming & 

definitions of the data items 

(D) All of the Mentioned 

 50. mi;ksxdrkZ ds ǹf”Vdks.k ls MsVkcsl fMtkbu 

djus ds fy, ekunaM dh igpku djsa% 

(A) dksbZ vfrjsd ugha 

(B) dksbZ vuqi;qDr xq.k ugha 

(C) MsVk enksa ds ukedj.k vkSj ifjHkk”kkvksa 

esa ,d:irk  

(D) lHkh mYysf[kr 
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51. The information about data in a 

database is called:  

(A)   Tera data 

(B) Meta data 

(C) Hyper data 

(D) None of these 

 51. MsVkcsl esa MsVk ds ckjs esa tkudkjh dks dgk 

tkrk gS% 

(A) Vsjk MsVk 

(B) esVk MsVk 

(C) gkbij MsVk 

(D) buesa ls dksbZ ugha 

52. In an E-R diagram _______ is 

used for representing an entity. 

(A)   Square 

(B) Rectangle  

(C) Ellipse 

(D) Diamond-shaped box   

 52. ,d bZ&vkj vkjs[k esa______ dk mi;ksx 

,d bdkbZ dk izfrfuf/kRo djus ds fy, 

fd;k tkrk gSA 

(A) LDok;j 

(B) vk;r 

(C) nh?kZòÙk 

(D) ghjs ds vkdkj dk fMCCkk 

53. A person has a PAN card. This 

relationship is: 

(A)   One-to-one 

(B) One-to-many 

(C) Many-to-many 

(D) Many-to one 

 53. ,d O;fDr ds ikl iSu dkMZ gSA bl fLFkfr 

ds fy, fUkEufyf[kr esa ls dkSu lk laca/k 

lgh gS\ 

(A) ,d&ls&,d 

(B) ,d&ls&dbZ 

(C) dbZ&ls vusd 

(D) dbZ&ls&,d 

54. Which of the following deals with 

the physical representation of the 

database on the computer? 

(A)   Internal level 

(B) Conceptual level 

(C) External level 

(D) None of the these 

 54. fuEufyf[kr esa ls dkSu daI;wVj ij MsVkcsl 

ds HkkSfrd izfrfuf/kRo ls lEcaf/kr gS\ 

(A) vkarfjd Lrj 

(B) oSpkfjd Lrj 

(C) ckgjh Lrj 

(D) buesa ls dksbZ ugha 
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55. The person who has the central 

control over data and application 

program is: 

(A)   DBA 

(B) System Analyst 

(C) Database designer 

(D) None of these 

 55. MsVk vkSj ,fIyds’ku çksxzke ij dsafnz; 

fu;a=.k j[kus okyk O;fDr gS\ 

(A) Mh-Ckh-,- 

(B) flLVe ,ukfyLV 

(C) MsVkcsl fMtkbuj 

(D) buesa ls dksbZ ugha 

56. Which of these attributes can be 

considered as the identifying 

attribute for an entity student? 

(A)   Address 

(B) Roll_number 

(C) Marks 

(D) Any of these 

 56. buesa ls dkSu lh fo’ks”krk dks ,d bdkbZ 

Nk= ds fy, igpku dh fo’ks”krk ds :i esa 

ekuk tk ldrk gS\ 

(A) irk 

(B) jksy_uacj 

(C) ekDlZ 

(D) buesa ls dksbZ Hkh 

57. Which of the following is the set-

oriented operation?  

(A)   Select 

(B) Division 

(C) Project 

(D) Difference 

 57. fuEufyf[kr esa ls dkSu lsV&vksfj,aVsM 

vkWijs’ku gS\ 

(A) lsysDV 

(B) fMoht+u 

(C) çkstsDV 

(D) fMQjsal 

58. If relation R has m tuples and 

relation S has n tuples, then the 

result of join on relation R and S 

will have up to _______ tuples. 

(A)   m*n 

(B) m/n 

(C) m+n 

(D) m-n   

 58. ;fn laca/k R esa m VqiYl gSa vkSj laca/k S esa 

n VqiYl gSa] rks laca/k R vkSj S ij tqM+us 

ds ifj.kke esa _______ VqiYl fdrus gksaxsA 

(A)   m*n 

(B) m/n 

(C) m+n 

(D) m-n   
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59. Primary key can be?  

(A)   NULL 

(B) NOT NULL 

(C) BOTH NULL and NOT 

NULL 

(D) Depends on situation 

 59. çkFkfed dqath gks ldrh gSa\ 

(A)  NULL 

(B) NOT NULL 

(C) nksuksa NULL vkSj NOT NULL 

(D) fLFkfr ij fuHkZj djrk gS 

60. Which of the following allows to 

uniquely identifying a tuple?  

(A)   Schema 

(B) Attribute 

(C) Super key 

(D) Domain 

 60. fuEufyf[kr esa ls dkSu Vqiy dks fof’k”V :i 

ls igpkuus dh vuqefr nsrk gS\ 

(A) Ldhek 

(B) ,fVªC;wV 

(C) lqij daqth 

(D) Mksesu 

61. How many levels are there in 

architecture of database? 

(A)   2 

(B) 3 

(C) 4  

(D) 5   

 61. MsVkcsl ds vkfdZVsDpj esa fdrus ysoy gksrs 

gSa\ 

(A)   2 

(B) 3 

(C) 4  

(D) 5   

62. Which of the following keys can 

uniquely identify row in a table?  

(A)   Primary key 

(B) Candidate key 

(C) Super key 

(D) All of these  

 62. fuEufyf[kr esa ls dkSu lh dqath rkfydk esa 

iafDr dh fof’k”V :i ls igpku dj ldrh 

gS\ 

(A) çkFkfed dqath 

(B) mEehnokj dqath 

(C) lqij dqath 

(D) ;s lHkh 
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63. CREATE operation of SQL is a : 
(A)   Data query language  
(B) Data definition language 
(C) Data control language 
(D) Data manipulation language 

 63. SQL dk fØ,V vkWijs’ku gS% 

(A) MsVk Dosjh Hkk”kk 

(B) MsVk MfQfu’k;u Hkk”kk 

(C) MsVk fu;a=.k Hkk”kk 

(D) MsVk eSuhiqys’ku Hkk”kk 

64. What is the cardinality of a table 
with 1000 rows and 10 columns?  
(A)   10 
(B) 100 
(C) 1000 
(D) None of these 

 64. 1000 iafDr;ksa vkSj 10 LraHkksa okyh rkfydk 

dh dkfMZuSfyVh D;k gS\ 

(A)   10 
(B) 100 
(C) 1000 
(D) buesa ls dksbZ ugha 

65. What is the RDBMS terminology 
for a row?  
(A)   Tuple   
(B) Relation 
(C) Attribute 
(D) Domain 

 65. ,d iafDr ds fy, RDBMS ‘kCnkoyh D;k 

gS\ 

(A) Vqiy 

(B) fjys’ku 

(C) ,fVªC;wV 

(D) Mksesu 

66. Which of the following is not a 
DDL statement?  
(A)   ALTER 
(B) CREATE 
(C) DROP 
(D) SELECT 

 66. fuEufyf[kr esa ls dkSu Mh-Mh-,y- LVsVeasV 

ugha gS\ 

(A)   ALTER 
(B) CREATE 
(C) DROP 
(D) SELECT 

67. Which of the following is not a 
DML statement? 
(A)   UPDATE 
(B) INSERT 
(C) COMMIT 
(D) DELETE 

 67. fuEufyf[kr esa ls dkSu ,d Mh-,e-,y- 

LVsVesaV ugha gS\ 

(A)   UPDATE 
(B) INSERT 
(C) COMMIT 
(D) DELETE 
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68. Which of the following SQL 

command is used for removing (or 

deleting) a relation forms the 

database? 

(A)   Drop 

(B) Delete 

(C) Rollback  

(D) Remove 

 68. fuEufyf[kr esa ls dkSu lh SQL dekaM dk 

mi;ksx MsVkcsl ls fjys’ku dks gVkus ¼;k 

gVkus½ ds fy, fd;k tkrk gS\ 

(A) MªkWi 

(B) fMyhV 

(C) jksycSd 

(D) fudkys 

69. What is the name of the query that 

is placed within a WHERE or 

HAVING clause of another query?  

(A)   Multi query 

(B) Sub query 

(C) Super query 

(D) Master query  

 69. fdlh vU; Dosjh ds WHERE ;k 

HAVING DykWt ds Hkhrj j[kh xbZ Dosjh 

dk uke D;k gS\ 

(A) eYVh Dosjh 

(B) lc Dosjh 

(C) lqij Dosjh 

(D) ekLVj Dosjh 

70. Select the correct command to find 

the number of values in a column: 

(A)   ADD 

(B) SUM 

(C) TOTAL 

(D) COUNT 

 70. dkWye esa ekuksa dh la[;k Kkr djus ds fy, 

Lkgh dekaM dk p;u djsa% 

(A)   ADD 

(B) SUM 

(C) TOTAL 

(D) COUNT 

71. Relational Calculus is a _______ 

language.  

(A)   Procedural 

(B) Non-Procedural 

(C) High-level 

(D) Data definition 

 71. fjys’kuy dSydqyl ,d _______ Hkk”kk gSA  

(A) çfØ;kRed 

(B) xSj& çfØ;kRed 

(C) mPpLrjh; 

(D) MsVk ifjHkk”kk 
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72. E-R model uses this symbol to 

represent weak entity set? 

(A)   Dotted rectangle 

(B) Diamond 

(C) Doubly outlined rectangle 

(D) None of these 

 72. bZ&vkj ekWMy detksj bdkbZ lsV dk 

izfrfuf/kRo djus ds fy, bl izrhd dk 

mi;ksx djrk gS\ 

(A) fcanhnkj vk;r 

(B) Mk;eaM 

(C) Mcy js[kkafdr vk;r 

(D) buesa ls dksbZ ugha 

73. In the _______ normal form, a 

composite attribute is converted to 

individual attributes. 

(A)   First 

(B) Second 

(C) Third 

(D) Fourth 

 73. ______ lkekU; :i eas] ,d lexz fos’ks”krk 

dks O;fDrxr fo’ks”krkvksa esa ifjofrZr fd;k 

tkrk gSA 

(A) igyk 

(B) nwljk 

(C) rhljk 

(D) pkSFkk 

74. In which of the following formats 

data is stored in the database 

management system? 

(A)   Image 

(B) Text 

(C) Table 

(D) Graph 

 74. MsVkcsl eSusteasV esa MsVk dks fuEu esa ls fdl 

QkWesZV esa LVksj fd;k tkrk gS\ 

(A) best 

(B) VsDLV 

(C) Vscy 

(D) xzkQ 

75. A _______ consists of a sequence 

of query and/or update statements. 

(A)   Transaction 

(B) Commit 

(C) Rollback 

(D) Flashback 

 75. ,d ______ esa Dosjh vkSj@;k viMsV 

LVsVesaV dk ,d Øe gksrk gSA 

(A) Yksu&nsu  

(B) dfeV 

(C) jksycSd 

(D) ¶yS’kcSd 
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76. Which of the following makes the 
transaction permanent in the 
database?  
(A)   View 
(B) Commit 
(C) Rollback 
(D) Flashback 

 76. fuEufyf[kr esa ls dkSu MsVkscsl esa ysunsu 

dks LFkk;h cukrk gS\ 

(A) O;w 

(B) dfeV 

(C) jksycSd 

(D) ¶yS’kcSd 

77. In case of any shut down during 
transaction before commit which 
of the following statement is done 
automatically?  
(A)   View 
(B) Commit 
(C) Rollback  
(D) Flashback 

 77. çfrc) gksus ls igys ysunsu ds nkSjku fdlh 

Hkh ‘kV Mkmu ds ekeys esa fuEufyf[kr esa ls 

dkSu lk dFku Lopkfyr :i ls fd;k tkrk 

gS\ 

(A) O;w 

(B) dfeV 

(C) jksycSd 

(D) ¶yS’kcSd 

78. In order to maintain transactional 
integrity and database consistency, 
what technology does a DBMS 
deploy?  
(A)   Triggers 
(B) Pointers 
(C) Locks 
(D) Cursors   

 78. ysu&nsu dh v[kaMrk vkSj MsVkcsl dh 

fLFkjrk cuk, j[kus ds fy,] DBMS fdl 

rduhd dks rSukr djrk gS\ 

(A) fVªxj 

(B) ikWbaVlZ 

(C) ykWDl 

(D) dlZj 

79. Two schedules are known as 
_____ if they produce same final 
state of the database. 
(A)   Serializable 
(B) Conflict equivalent 
(C) Result equivalent 
(D) View equivalent of the 

mentioned. 

 79. nks schedule dks _____ ds :i esa tkuk 

tkrk gS ;fn os MsVkcsl dh leku vafre 

fLFkfr mRiUu djrs gSaA 

(A) lhfj;y djus ;ksX; 

(B) la?k”kZ led{k 

(C) ifj.kke led{k 

(D) mYysf[kr ds led{k ns[ksa 
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80. The constraint that can be applied 

only at column level is: 

(A)   Primary key constraint 

(B) Foreign key constraint 

(C) Unique Constraint 

(D) Not null Constraint 

 80. tks ck/kk dsoy dkWye Lrj ij ykxw dh tk 

ldrh gS og gS% 

(A) çkFkfed dqath ck/kk 

(B) fons’kh dqath ck/kk 

(C) vf}rh; ck/kk 

(D) ‘kwU; ck/kk ugha 

81. The type of data structure that is 

used in a relational model is :  

(A)   Table 

(B) Tree 

(C) Graph  

(D) None of these 

 81. ,d fjys’kuy ekWMy esa mi;ksx dh tkus 

okyh MsVk lajpuk dk izdkj gS% 

(A) Vscy 

(B) Vªh 

(C) xzkQ 

(D) buesa ls dksbZ ugha 

82. Which of these operator selects 

value that match any value in a 

given list of values? 

(A)   BETWEEN 

(B) LIKE 

(C) IN 

(D) None of these  

 82. buesa ls dkSu lk vkWijsVj oSY;w dk p;u 

djrk gS tks fdlh fn, oSY;w fyLV esa fdlh 

Hkh oSY;w ls esy [kkrk gS\ 

(A)   BETWEEN 

(B) LIKE 

(C) IN 

 (D) buesa ls dksbZ ugha 

83. Which of these keywords is used 

to eliminate duplicate tuples from 

the resultant relation? 

(A)   DELETE 

(B) DISTINCT 

(C) NON DUPLICATE 

(D) EXISTS 

 83. ifj.kkeh laca/k ls MqIyhdsV VqiYl dks [kRe 

djus ds fy, buesa ls fdl dhoMZ dk 

mi;ksx fd;k tkrk gS\ 

(A)   DELETE 

(B) DISTINCT 

(C) NON DUPLICATE 

(D) EXISTS 
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84. The essential requirement of 
______ normal form is that every 
determinant in the relation must be 
a candidate key.  
(A)   Boyce Codd 
(B) Fourth 
(C) Fifth  
(D) Third 

 84. ______ lkekU; :i dh vfuok;Z 

vko’;drk ;g gS fd laca/k esa çsR;sd 

fu/kkZjd ,d mEehnokj dqath gksuk pkfg,A 

(A) ckW;M dksM 

(B) pkSFkk 

(C) ikapoka 

(D) rhljk 

85. Which of the following operation 
form a schedule?  
(A)   Read 
(B) Write 
(C) Commit 
(D) All of these 

 85. fuEufyf[kr esa ls dkSu lk vkWijs’ku ,d 

‘ksMîwy cukrk gS\ 

(A) Ik<+uk 

(B) fy[kuk 

(C) çfrc) 

(D) buesa ls lHkh 

86. Functional dependencies are 
classified as_______ on the left. 
(A)   Dependent 
(B) Determined 
(C) Determinants 
(D) Database   

 86. dk;kZRed fuHkZjrk dks ckbZ vksj ____ ds 

:i esa oxhZ—r fd;k x;k gSA 

(A) vkfJr 

(B) fu/kkZfjr 

(C) fu/kkZjd 

(D) MsVkcsl 

87. Which of the following is a type of 
functional dependency? 
(A)   Trivial Functional 

Dependency 
(B) Non-trivial Functional 

Dependency 
(C) Both (A) and (B) 
(D) None of the above 

 87. fuEufyf[kr esa ls dkSu ,d çdkj dh 

dk;kZRed fuHkZjrk gS\ 

(A) rqPN dk;kZRed fuHkZjrk 

(B) xSj&rqPN dk;kZRed fuHkZjrk 

(C) nksuksa (A) vkSj (B) 

(D) mijksDr esa ls dksbZ ugha 
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88. Locks placed by commands are: 

(A)   Implicit locks 

(B) Explicit locks 

(C) Shared locks 

(D) Exclusive locks 

 88. vkns’kksa }kjk yxk, x, ykWDl gSa% 

(A) fufgr ykWDl 

(B) Li”V ykWDl 

(C) lk>k ykWDl 

(D) vuU; ykWDl 

89. Which of the following locks the 

item from change but not from 

read? 

(A)   Implicit locks 

(B) Explicit locks 

(C) Shared locks 

(D) Exclusive locks 

 89. fuEufyf[kr esa ls dkSu vkbVe dks ifjorZu 

ls jksdrk gS ysfdu i<+us ls ugha\ 

(A) fufgr ykWDl 

(B) Li”V ykWDl 

(C) lk>k ykWDl 

(D) vuU; ykWDl 

90. The size of locks is called:  

(A)   Lock granularity 

(B) Implicit locks 

(C) Explicit locks 

(D) Shared locks 

 90. ykWDl ds vkdkj dks dgrs gSa% 

(A) ykWd xSzU;qySfjVh 

(B) fufgr ykWDl 

(C) Li”V ykWDl 

(D) lk>k ykWDl 

91. If a transaction is performed in a 

database and committed, the 

changes are taken to the previous 

state of transaction by: 

(A)   Flashback 

(B) Rollback 

(C) Both (A) and (B) 

(D) Cannot be done 

 91. ;fn dksbZ ysunsu MsVkcsl esa fd;k tkrk gS 

vkSj izfrc) gksrk gS] rks ifjorZu ysunsu dh 

fiNyh fLFkfr esa ys tk;k tkrk gS% 

(A) ¶YkS’kcSd 

(B) jksycSd 

(C) nksuksa (A) vkSj (B) 

(D) ugha fd;k tk ldrk 
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92. If a transaction has obtained a 
______ lock, it can both read and 
write on the item. 
(A)   Shared mode 
(B) Exclusive mode 
(C) Read only mode 
(D) Write only mode 

 92. ;fn fdlh ysu&nsu us ______ ykWd izkIr 
fd;k gS] rks ;g vkbVe ij i<+ vkSj fy[k 
ldrk gSA 
(A) lk>k eksM 
(B) fo’ks”k eksM 
(C) jhM eksM 
(D) jkbV eksM 

93. Entity is a _____. 
(A)   Object of a relation 
(B) Present working model 
(C) Thing in real world 
(D) Model of relation 

 93. bdkbZ ,d ______ gSA  
(A) ,d fj’rs dh oLrq 
(B) orZeku dk;Z ekWMy 
(C) okLrfod nqfu;k esa ckr 
(D) laca/k dk ekWMy 

94. The attribute AGE is calculated 
from DATE_OF_BIRTH. The 
attribute AGE is: 
(A)   Single valued 
(B) Multi valued 
(C) Composite 
(D) Derived 

 94. fo’ks”krk AGE dh x.kuk  DATE_OF_ 
BIRTH ls dh tkrh gSA fo’ks”krk AGE gS% 
(A) ,dy ewY;oku 
(B) cgq ewY;oku 
(C) lexz 
(D) O;qRiUu 

95. Which of the following can be a 
multivalued attribute? 
(A)   Phone_number 
(B) Name 
(C) Date_of_birth 
(D) All of the mentioned 

 95. fuEufyf[kr esa ls dkSu cgqewY;oku fo’ks”krk 
gks ldrh gS\ 
(A) Qksu_uacj 
(B) uke 
(C) rkjh[k_dk_tUe 
(D) lHkh mfYyf[kr 

96. An entity in A is associated with at 
most one entity in B, and an entity 
in B is associated with at most one 
entity in A. This is called as:  
(A)   One-to-many 
(B) One-to-one 
(C) Many-to many 
(D) Many-to-one 

 96. A esa ,d bdkbZ B esa vf/kdre ,d bdkbZ 
ls tqM+h gS] vkSj B esa ,d bdkbZ A esa 
vf/kdre ,d bdkbZ ls tqM+h gSA bls dgk 
tkrk gS% 
(A) ,d&ls&dbZ 
(B) ,d&ls&,d 
(C) dbZ&ls&vusd 
(D) dbZ&ls&,d 
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97. For a weak entity set to be 
meaningful, it must be associated 
with another entity set, called the: 
(A)   Identifying set 
(B) Owner set 
(C) Neighbor set 
(D) Strong entity set 

 97. ,d detksj bdkbZ ds lkFkZd gksus ds fy,] 
bls fdlh vU; bdkbZ lsV ds lkFk tksM+k 
tkuk pkfg,] ftls dgk tkrk gS% 
(A)   Identifying set 
(B) Owner set 
(C) Neighbor set 
(D) Strong entity set 

98. Which of the following is used to 
denote the selection operation in 
relational algebra?  
(A)   Pi (Greek) 
(B) Sigma (Greek) 
(C) Lambda (Greek) 
(D) Omega (Greek) 

 98. fuEufyf[kr essa ls fdldk ç;ksx laca/kijd 

chtxf.kr esa p;u lafØ;k dks fu:fir djus 

ds fy, fd;k tkrk gS\ 

(A) ikbZ ¼xzhd½ 

(B) flXek ¼xzhd½ 

(C) ySECMk ¼xzhd½ 

(D) vksesxk ¼xzhd½ 

99. The ________ operation, denoted 
by -, allows us to find tuples that 
are in one relation but are not in 
another. 
(A)   Union 
(B) Set-difference 
(C) Difference 
(D) Intersection 

 99. _______ vkWijs’ku] ftls&}kjk n’kkZ;k 

tkrk gS] gesa mu VqiYl dk [kkstus dh 

vuqefr nsrk gS tks ,d laca/k esa gSa ysfdu 

nwljs esa ugha gSaA 

(A) la?k 

(B) lsV&varj 

(C) varj 

(D) baVjlsD’ku 

100. Which of the following terms does 
refer to the correctness and 
completeness of the data in a 
database?  
(A)   Data security 
(B) Data constraint 
(C) Data independence 
(D) Data integrity 

 100. fuEufyf[kr esa ls dkSu lk ‘kCn MsVkcsl esa 
MsVk dh ‘kq)rk vkSj iw.kZrk dks lanfHkZr djrk 
gS\ 
(A) MsVk lqj{kk 
(B) MsVk dh deh 
(C) MsVk Lora=rk 
(D) MsVk v[kaMrk 

****** 
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